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BT 72 25 35 9 1 2
\
WhEm s 7 25 34 9 1 2
T 35 7 12 7 6 1 2
s RE 35 7 12 7 6 1 2
2 6 1 1 1 2 1
EA RE 6 1 1 1 2 1
T 131 95 24 4 3 3 2
L Lo e 119 94 18 2 3 2
o 2 11 9 2
NRET = 11 9 2
N T 19 8 5 1 3 2
REE s 19 8 5 1 3 2
. 2 25 11 7 4 1 2
LE LI 21 9 6 4 2
—r T2 7 2 1 4
2= LT RE 7 2 1 4
2 2 1 1
JIRFF o 2 ] 1
e EY 5 2 3
ARRET [ 5 2 3
. 2 15 14 1
U 13 12 i
= =g 22 19 2 1
RIET oo 22 19 2 1
2 4 2 1 1
BEM s 4 2 1 1
=g 14 2 10 1 1
L s 12 1 9 1 1
2 15 10 1 3 1
WEN | 9 6 1 1 1
T 383 208 98 12 26 2 1 26 5 1 4
INEH RE 356 198 89 10 26 2 25 3 1 2
TR 27 10 9 2 1 1 2 2
— ] 46 23 16 1 1 5
= R 37 21 13 1 1 1
EE 45 22 18 4 1
Al RE 39 20 15 3 1
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B RE 1 1
= e B2 5 2 2 1
BENT o 4 1 2 1
o 2 7 2 1 1 3
A s 6 2 1 1 2
) EE 2 2
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RPET s 3 2 1
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ERET e 2 1 1
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2 4 4
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_ 2 3 2 1
EF e 2 2
] 125 54 48 2 8 2 2 9
INET RE 105 48 42 1 7 2 2 3
TR 20 6 6 1 1 6
2 508 262 146 14 34 4 3 35 5 1 4
= RE 461 246 131 11 33 4 2 28 3 1 2
TEH 47 16 15 3 1 1 7 2 2




